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The purpose of these practice test materials is to orient teachers and
students to the types of questions on paper-based FSA tests. By using these
materials, students will become familiar with the types of items and response
formats they may see on a paper-based test. The practice questions and
answers are not intended to demonstrate the length of the actual test, nor
should student responses be used as an indicator of student performance on
the actual test. The practice test is not intended to guide classroom
instruction.
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1. Match each complex expression with its value.
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2. Choose the correct word or phrase to fill in each blank. For each blank,
fill in the circle before the word or phrase that is correct.

Ethan was solving 2.71x3 + 8.64 = 3.12.

Ethan’s first step resulted in 2.71x3 = –5.52 because he applied 
the _____.

»   addition property of equality

B   substitution property

C   multiplicative property of equality

Ethan should then _____.

A   find the cube root

»   use the multiplicative property of equality

C   use the distributive property 
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3. The table shows information about 10 students in Mrs. McKeon’s calculus
class. 

Mrs. McKeon randomly picks two students to present a homework
problem. She defines two events as shown.

• Event E: A male and a female are selected.

• Event F: Both of the students are in the math club.

Select all the sets of students that are in the complement of the union of
events E and F.

A Lisette and Thomas

»  Keisha and Kumiko

C  Radha and Thomas

D  Carlos and Michael

»  Kumiko and Lisette

»  Paolo and Xavier

15038

In Math
Club?

GenderName

YesFemaleAlexa

YesMaleCarlos

YesFemaleKeisha

NoFemaleKumiko

NoFemaleLisette

YesMaleMichael

NoMalePaolo

YesFemaleRadha

NoMaleThomas

YesMaleXavier
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4. Jared is opening several ice cream stores. The walls of the stores can be
yellow or blue. He designs an experimental study to determine if the
color of the walls affects how much ice cream people eat.

Jared finds 164 volunteers. He randomly assigns half of them to a room
with yellow walls and lets them eat as much chocolate ice cream as they
want for one hour. He assigns the other half to a room with blue walls
and lets them eat as much vanilla ice cream as they want for one hour.

Jared records the total amount of ice cream eaten in each room.

What is one flaw in Jared’s study?

A There are too many volunteers.

B   The room assignments were random.

»   The groups had different flavors of ice cream.

D  The groups did not have different numbers of volunteers.
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This is the end of Session 1.
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5. A coffee machine makes one cup of coffee at a time. The amount of
coffee the machine makes can be selected before the coffee is made.
Jerry selects the coffee machine’s 14.5-ounce option for his 16-ounce
cup. The amount of coffee, in ounces, in his cup at time x is given by the
function C (x) = –0.4x2 + 5.06x, where x is in minutes.

What is the largest domain for which C (x) models the amount of coffee
in a cup?

»  0 ≤ x ≤ 4.4

B   0 ≤ x ≤ 8.25

C   0 ≤ x ≤ 14.5

D  0 ≤ x ≤ 16
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6. The number of Salmonella bacteria, y, in a sample after M minutes can
be found using the equation shown.

To the nearest tenth of a minute, how many minutes will it take for the
sample to have 100,000 bacteria?
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y 1,200 2
20
60

M
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7. Mike creates a design for a square kitchen floor. Each tile measures 
1 foot square. An example of the design is shown.

Mike found that the expression 4n + 2n2 − 2n would give the total number
of edges for a design of any size, where n is the length, in feet, of one
side of the design.

Select an expression and an explanation to match the meaning of the
value the expression represents.
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edge

Expression

n

2n

2n2 – 2n

4n + 2n2

A

B

D

Explanation

area of the design

perimeter of the design

number of edges in one row 
of the design

number of edges inside the 
design

A

B

C
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8. Amanda bought a new car for $17,850. Her new car will lose 11% of its
value the moment she drives the car off the car dealership’s lot. Over 
the next five years, Amanda’s car will depreciate 20.5% each year. After
five years, her car will hold its value at 27% of its original cost.

Select the appropriate definition and domain for the variable x for the
equation that models the value of Amanda’s car, C. Then, select the
correct equation.

A. Select a definition for the variable x.

» x is the number of years since Amanda’s car left the car
dealership’s lot.

B x is the number of years since the value of Amanda’s car reached
20.5% of its original cost.

C x is the number of years Amanda’s car was at 27% of its original
cost.

B. Select the domain that best fits the situation.

A all real numbers

» 0 ≤ x ≤ 5

C x ≥ 0

C. Select the equation that can be used to model the value of Amanda’s car.

A C = 17,850(1 − 0.585)x

» C = 15,886.5 (1 − 0.205)x

C C = 6,604(1 − 0.27)x
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9. The mean population of the counties in Florida is 289,294 and the
standard deviation is 461,176. It can be assumed that the population is
approximately normally distributed.

What percentage of the population of all counties is within one standard
deviation of the mean?

Other correct responses: 68.2, 68.26, or 68.3

14675

-------

`````

0000000

1111111

2222222

3333333

4444444

5555555

6666666

7777777

8888888

9999999

aaaaaaa

6 8



Page 15

FSA Algebra 2 Practice Test Answer Key

Go On

Session 2

10. Solve f (x) = g(x), to the nearest tenth, where f (x) = e x – 2.4 and g(x) 
is shown.
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11. A wheel of Matthew’s bicycle has a radius of 1 foot. He uses chalk to create
a marking on the outer edge of the wheel. Matthew rides his bicycle at a
constant speed so that the wheel rotates 3 times every second.

Which function, h(t), represents the height, in feet, of the marking from
the ground with respect to time, t, in seconds?

A 

B   

C   

»  
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h t sin t2
3

h t sin t2
3

1

h t sin t6

h t sin t6 1
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This is the end of Session 2.
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